

RENDICONTI *del* SEMINARIO MATEMATICO *della* UNIVERSITÀ DI PADOVA

F. LOONSTRA

Special cases of subproducts

Rendiconti del Seminario Matematico della Università di Padova,
tome 64 (1981), p. 175-185

http://www.numdam.org/item?id=RSMUP_1981__64__175_0

© Rendiconti del Seminario Matematico della Università di Padova, 1981, tous droits réservés.

L'accès aux archives de la revue « Rendiconti del Seminario Matematico della Università di Padova » (<http://rendiconti.math.unipd.it/>) implique l'accord avec les conditions générales d'utilisation (<http://www.numdam.org/conditions>). Toute utilisation commerciale ou impression systématique est constitutive d'une infraction pénale. Toute copie ou impression de ce fichier doit contenir la présente mention de copyright.

NUMDAM

*Article numérisé dans le cadre du programme
Numérisation de documents anciens mathématiques*
<http://www.numdam.org/>

Special Cases of Subproducts.

F. LOONSTRA (*)

1. Introduction.

In spite of the importance of subdirect products of modules we do not know much of their structure in general. An exception is a subdirect product $M = M_1 \times_{\widetilde{F}} M_2$ of two modules M_1, M_2 . In that case there is a module F and epimorphisms $\alpha_i: M_i \rightarrow F (i = 1, 2)$, such that $M = \{(m_1, m_2) | \alpha_1 m_1 = \alpha_2 m_2\}$. For general subdirect products such a common factor module F does not exist. If however $M = \times_{\widetilde{I}} M_i$ is a subdirect product of the $M_i (i \in I)$, and F a module with epimorphisms $\alpha_i: M_i \rightarrow F (i \in I)$, such that $M = \{(m_i)_{i \in I} \in \prod_{i \in I} M_i | \alpha_i m_i = \alpha_j m_j, \forall i, j \in I\}$, then M is called a *special subdirect product*, denoted by $M = \times_{\widetilde{I}} M_i(\alpha_i, F)$.

If M is a submodule of the finite direct sum $M^* = \bigoplus_{i=1}^k M_i$, then M can be characterized in the following efficient way ⁽¹⁾: Define $F = M^*/M$, and $\alpha_i: M_i \rightarrow F$ by $\alpha_i(m_i) = m_i + M$; then an element $(m_1, m_2, \dots, m_k) \in M^*$ belongs to M exactly if $\alpha_1 m_1 + \dots + \alpha_k m_k = 0$. In other words: a submodule M of the finite direct sum M^* can be characterized by means of homomorphisms $\alpha_i: M_i \rightarrow F$ and equations of the form $\alpha_1 x_1 + \dots + \alpha_k x_k = 0$.

(*) Indirizzo dell'A.: Technische Hogeschool Delft, Afdeling der Algemene Westenschappen, Julianalaan 132, 2600 AT Delft, Olanda.

⁽¹⁾ See: L. FUCHS - F. LOONSTRA, *On a class of submodules in direct products*, Rend. Accad. Naz. dei Lincei, Serie VIII, **60** (1976), pp. 743-748.

In the following we generalize this procedure for a set $\{M_i\}_{i \in I}$ of modules and epimorphisms $\alpha_i: M_i \rightarrow F$ onto an R -module F in case R is commutative.

Let R be a commutative ring ($1 \in R$), $\{M_i\}_{i \in I}$ and F a nonempty set of non-zero unitary left R -modules, and $\alpha_i: M_i \rightarrow F$ ($i \in I$) a set of R -epimorphisms. Let $M^* = \prod_{i \in I} M_i$, and M the submodule of M^* defined as follows:

$$(1) \quad M = \left\{ m^* = (m_i)_{i \in I} \in M^* \mid \sum_{i \in I} r_{ji} \alpha_i(m_i) = 0, j \in J \right\},$$

where I and J are index sets. We suppose that for each $j \in J$ almost all r_{ji} are zero. The R -module M , defined by (1) is called a *subproduct* of the M_i , denoted by

$$(2) \quad M = \left\{ M_i; \alpha_i; F; \sum_{i \in I} r_{ji} \alpha_i(m_i) = 0; j \in J \right\}.$$

The relations

$$\sum_{i \in I} r_{ji} \alpha_i(m_i) = 0 \quad (j \in J)$$

correspond with a homogeneous system of equations over F :

$$(3) \quad \sum_{i \in I} r_{ji} x_i = 0 \quad (j \in J).$$

We denote by

$$(4) \quad X = \langle \dots, x_i, \dots \rangle_{i \in I}, \quad g_j = \sum_{i \in I} r_{ji} x_i \quad (j \in J), \quad Y = \langle \dots, g_j, \dots \rangle_{j \in J}.$$

The solutions $(\dots, f_i, \dots)_{i \in I}$ of (3) form an R -module S and they correspond in a one to one way with the elements of the R -module

$$\text{Hom}_R(X/Y, F).$$

Indeed, if $(f_i)_{i \in I}$ satisfies (3), then there is a homomorphism $\varphi: X/Y \rightarrow F$, defined by

$$\varphi(x_i + Y) = \varphi(\bar{x}_i) = f_i \quad (i \in I).$$

The relations (3) assure that φ is well-defined. Conversely, if

$\psi \in \text{Hom}_R(X/Y, F)$, then

$$\psi(\bar{x}_i) = f_i \quad (i \in I)$$

determines a solution $(f_i)_{i \in I}$ of (3). We have

$$(5) \quad \text{Hom}_R(X/Y, F) \cong \mathcal{S} \left\{ (f_i)_{i \in I} \mid \sum_{i \in I} r_{ji} f_i = 0; j \in J \right\}.$$

The elements $m = (m_i)_{i \in I} \in M$ are determined by the relations $\alpha_i(m_i) = f_i$ ($i \in I$), if $(f_i)_{i \in I}$ is a solution of (3). The R -module \mathcal{S} of all solutions $(f_i)_{i \in I}$ of (3) can be represented as

$$\mathcal{S} = \underset{i \in I}{\times} F_i,$$

where F_i is the submodule of F consisting of the i -components of all solutions $(f_i)_{i \in I}$ of (3). If $N_i = \alpha_i^{-1} F_i$, then

$$(6) \quad M = \underset{i \in I}{\times} N_i \left(\alpha_i; F_i; \sum_{i \in I} r_{ji} \alpha_i(n_i) = 0; j \in J \right).$$

The subproduct M , defined by (1) can be considered as the intersection of the one-relation subproducts $M^{(j)}$, where

$$(7) \quad M^{(j)} = \left\{ M_i; \alpha_i; F; \sum_{i \in I} r_{ji} \alpha_i(m_i) = 0, \text{ fixed } j \in J \right\},$$

and

$$(8) \quad M = \bigcap_{j \in J} M^{(j)}.$$

Let M be the subproduct (1) with corresponding system (3) of equations over F ; using the same system $\{M_i; \alpha_i; M_i \rightarrow F\}_{i \in I}$ we may consider another system of relations $\sum_i r_{j'i} \alpha_i(m_i) = 0$ ($j' \in J'$) with the corresponding system of equations over F

$$(9) \quad \sum_i r_{j'i} x_i = 0 \quad (j' \in J').$$

Both systems of relations lead to the same subproduct M if any solution $(f_i)_{i \in I}$ of (3) is a solution of (9) and conversely. It is clear that

a necessary and sufficient condition therefore is, that there exists an R -isomorphism

$$\nu: \text{Hom}_R(X/Y, F) \cong \text{Hom}_R(X/Y', F),$$

where $Y' = \langle \dots, h_{j'}, \dots \rangle$, $h_{j'} = \sum_i r_{j'i} x_i$, such that corresponding elements φ and $\nu(\varphi) = \varphi'$ have the property $\varphi(x_i + Y) = \varphi'(x_i + Y')$, $\forall i \in I$.

2. Relation between subproduct and subdirect product.

We formulate a relation between the modules $\text{Hom}_R(X/Y, F)$ and $\text{Hom}_R(X/Y_j, F)$, where $Y_j = \langle g_j \rangle$, $j \in J$. The elements $\varphi^{(j)} \in \text{Hom}_R(X/Y_j, F)$ correspond in a one to one way with the solutions

$$(\dots, f_i^{(j)}, \dots)_{i \in I}$$

of the equation $g_j = 0$. If we take an element $\varphi^{(j)}$ of each module $\text{Hom}_R(X/Y_j, F)$, where $\varphi^{(j)}$ corresponds with a solution of the equation $g_j = 0$,

$$\varphi^{(j)} \leftrightarrow (\dots, f_i^{(j)}, \dots)_{i \in I},$$

then the system

$$(\dots, \varphi^{(j)}, \dots, \varphi^{(k)}, \dots), \quad j, k \in J$$

defines an element of the subproduct M if and only if for any two indices $j, k \in J$ we have

$$\varphi^{(j)}(\dots, \bar{x}_i, \dots) = \varphi^{(k)}(\dots, \bar{\bar{x}}_i, \dots) = (\dots, f_i, \dots),$$

where

$$\bar{x}_i = x_i + Y_j, \quad \bar{\bar{x}}_i = x_i + Y_k \quad (\forall j, k \in J; \forall i \in I).$$

For in that case the corresponding system (\dots, f_i, \dots) satisfies all equations (3). If we define the map

$$\beta^{(j)}: \text{Hom}_R(X/Y_j, F) \rightarrow F \times F \times F \times \dots \times F \times \dots$$

by

$$\beta^{(j)}(\varphi^{(j)}) = (\dots, f_i^{(j)}, \dots)_{i \in I}, \quad j \in J,$$

where $(f_i^{(j)})$ is the corresponding solution of $g_j = 0$, then $(\dots, \varphi^{(j)}, \dots)_{j \in J}$ defines a solution $(f_i)_{i \in I}$ of (3) if and only if

$$\beta^{(j)}\varphi^{(j)} = \beta^{(k)}\varphi^{(k)} \quad (\forall j, k \in J).$$

Denoting by $H = \text{Hom}_R(X/Y, F)$, $H_j = \text{Hom}_R(X/Y_j, F)$, $j \in J$, then we find

2.1. $H = \widetilde{\text{Hom}}_R(X/Y, F)$ is a special subdirect product $H = \times_{i \in \widetilde{J}} H_i \left(\beta^{(i)}, \prod_{|I|} F \right)$ of the $H_j = \text{Hom}_R(X/Y_j, F)$ by means of the $\beta^{(j)}$, $j \in J$.

To determine conditions therefore that M is a subdirect product $\times_{i \in \widetilde{I}} M_i$, we consider the equations (3), § 1; the solutions $(f_i)_{i \in I}$ have to form a subdirect product, i.e. that

$$S = \times_{i \in \widetilde{I}} F^{(i)}, \quad \text{where} \quad F^{(i)} = F \quad \text{for all } i \in I.$$

Therefore, for any $f_i \in F$ there must be a homomorphism $\varphi \in \text{Hom}_R(X/Y, F)$ such that $\varphi(x_i + H) = f_i$. If $\varphi: x_i + H \mapsto f_i$, then this map must induce a homomorphism $\varphi: \langle \bar{x}_i \rangle \rightarrow F$. We now formulate

2.2. Let the R -module M be defined by (2), § 1; then M is a subdirect product $M = \times_{i \in \widetilde{I}} M_i$ if the following conditions are satisfied:

$$\begin{array}{ccc} 0 \rightarrow \langle \bar{x}_i \rangle & \rightarrow & X/Y \\ & \varphi \downarrow & \swarrow \text{---} \tilde{\varphi} \\ & \langle f_i \rangle & \\ & \downarrow & \\ & F & \end{array}$$

- (a) $o(\bar{x}_i) \subseteq \text{Ann}_R F \quad (\forall i \in I);$ (b) F is injective.

PR.: Mapping $\bar{x}_i = x_i + Y$ onto an element $f_i \in F$ there exists an R -homomorphism $\varphi: \langle \bar{x}_i \rangle \rightarrow F$ (by (a)), and φ has an extension $\tilde{\varphi}: X/Y \rightarrow F$ inducing φ . The two conditions (a) and (b) are therefore sufficient therefore that M is a subdirect product. If the conditions (a) and (b) are satisfied we see moreover that $\text{Hom}_R(X/Y, F) \neq 0$.

2.3. *Necessary conditions therefore that any subproduct*

$$M = \left\{ M_i; \alpha_i; F; \sum_{i \in I} r_{ji} \alpha_i(m_i) = 0, j \in J \right\}$$

defines a subdirect product $M = \underset{i \in I}{\times} M_i$, are

$$(a') \quad o(\bar{x}_i) \subseteq \text{Ann}_R F \quad (\forall i \in I); \quad (b') \quad F \text{ is divisible.}$$

PR.: Since the equations (3), § 1 must have a solution with $x_i = f_i$, where f_i is any prescribed element of F , the map $\varphi: \bar{x}_i \mapsto f_i$ defines a homomorphism $\varphi: \langle \bar{x}_i \rangle \rightarrow F$, and that implies (a'). Choosing—in particular—a subproduct

$$M = \{M_1, M_2; \alpha_i: M_i \rightarrow F (i = 1, 2); r_1 \alpha_1(m_1) + \alpha_2(m_2) = 0\},$$

the corresponding equation (over F) $r_1 x_1 + x_2 = 0$ must be solvable for any $x_2 = f_2 \in F$, i.e. F must be divisible.

Summarizing the last two results we find

2.4. *Necessary and sufficient conditions therefore that any subproduct M , defined by means of a system (2), § 1 is a subdirect product, are*

$$(a) \quad o(\bar{x}_i) \subseteq \text{Ann}_R F \quad (\forall i \in I), \quad (b) \quad F \text{ is injective.}$$

We continue this § with the following question: suppose that the subproduct M , defined by (2), § 1, is a subdirect product $M = \underset{i \in I}{\times} M_i$. Since $M = \bigcap_{i \in J} M^{(i)}$, where $M^{(i)}$ is a one-relation subproduct, defined by the j -th equation

$$\sum_i r_{ji} x_i = 0,$$

it is easy to prove that every $M^{(j)}$ is a subdirect product of the $\{M_i\}_{i \in I}$.

Using the notations of 2.1.: $H = \underset{j \in J}{\times} H_j \left(\beta^{(j)}, \prod_{i \in I} F \right)$, where $\beta^{(j)} \varphi^{(j)} = (\dots, f_i^{(j)}, \dots)_{i \in I}$ is a solution of the j -th equation $\sum r_{ji} x_i = 0$. Now $\varphi \in H$ can be represented as

$$\varphi = (\dots, \varphi^{(j)}, \dots)_{j \in J},$$

with $\beta^{(j)} \varphi^{(j)} = \beta^{(k)} \varphi^{(k)}$ for all pairs $j, k \in J$. If $\varphi \leftrightarrow (\dots, f_i, \dots)_{i \in I}$, then by definition of $\beta^{(j)}$, all the components of $(\dots, f_i^{(j)}, \dots)$ must be—for each $i \in I$ —the same as those of $(\dots, f_i, \dots)_{i \in I}$. But then all the $M^{(j)}$ are subdirect products. We have therefore

2.5. *If the subproduct $M = \bigcap_j M^{(j)}$ is a subdirect product, then all the one-relation subproducts $M^{(j)}$ are subdirect products of the M_i ($i \in I$).*

We prove the converse: suppose $M = \bigcap_{j \in J} M^{(j)}$ defines a subproduct, and that each $M^{(j)}$ is a subdirect product

$$M^{(j)} = \left(\underset{i \in I}{\times} M_i \right)^{(j)}, \quad j \in J.$$

We prove that M is also a subdirect product of the M_i ($i \in I$). M is completely determined by the R -module $\text{Hom}_R(X/Y, F)$, since $\varphi \in \text{Hom}_R(X/Y, F)$ determines a solution of the equations (3), § 1: $(\dots, f_i, \dots)_{i \in I}$ by means of $\varphi(\bar{x}_i) = \varphi(x_i + Y) = f_i$ ($i \in I$). The modules $\text{Hom}_R(X/Y_j, F)$ correspond (for each $j \in J$) with a subdirect product

$$\left(\underset{i \in I}{\times} F^{(i)} \right)^{(j)}, \quad F^{(i)} = F \quad \text{for all } j \in J.$$

Any $\varphi \in H$ corresponds in a one to one way with

$$(10) \quad \varphi \leftrightarrow (\dots, \varphi^{(j)}, \dots, \varphi^{(k)}, \dots)_{j, k \in J},$$

where $\beta^{(j)} \varphi^{(j)} = \beta^{(k)} \varphi^{(k)}$ ($\forall j, k \in J$).

Since every $\varphi^{(j)} \in H_j$ can occur as j -th component of an element $\varphi \in H$, and since H_j corresponds with a subdirect product $M^{(j)}$, any prescribed $f_i = f_i^{(j)}$ of F can occur as j -th component (corresponding to $\varphi^{(j)}$). But then the same f_i corresponds to every $\varphi^{(k)}$ in (10). That implies that M is a subdirect product of the M_i ($i \in I$). The result is:

2.6. *The subproduct $M = \bigcap_j M^{(j)}$ is a subdirect product $M = \underset{i \in I}{\times} M_i$ if and only if all the one-relation subproducts $M^{(j)}$ ($j \in J$) are subdirect products.*

EXAMPLE. An interesting example of a subdirect product is the following one-relation subproduct of the two R -modules M_1 and M_2 :

$$M = \{M_1, M_2; \alpha_i: M_i \rightarrow F \ (i = 1, 2); r_1\alpha_1(m_1) + r_2\alpha_2(m_2) = 0\}$$

with $r_1F_1 = r_2F_2$,

where α_1 and α_2 are epimorphisms. The last condition implies that M is a subdirect product of M_1 and M_2 . Define

$$N_1 = \{m_1 \in M_1 | (m_1, 0) \in M\}, \quad N_2 = \{m_2 \in M_2 | (0, m_2) \in M\},$$

then $N_1 = \{m_1 \in M_1 | r_1\alpha_1(m_1) = 0\}$, etc. Define

$$F_1 = \{f_1 \in F | r_1f_1 = 0\}, \quad F_2 = \{f_2 \in F | r_2f_2 = 0\},$$

then $\alpha_1N_1 = F_1$, $\alpha_2N_2 = F_2$. Now it is easy to prove the isomorphism $\phi: M_1/N_1 \cong M_2/N_2$, defined by $\phi(m_1 + N_1) = m_2 + N_2$ if and only if $(m_1, m_2) \in M$. Moreover $F/F_1 \cong F/F_2$.

3. Essential subproducts.

We suppose that M is a subproduct (§ 1, (2)) of a finite number of R -modules $\{M_i\}$, $i = 1, 2, \dots, k$, while the epimorphisms $\alpha_i: M_i \rightarrow F$ have kernels $\text{Ker}(\alpha_i)$ which are closed in M_i ,

$$(11) \quad \text{Ker}(\alpha_i) \subseteq {}_{c_1}M_i \quad (i = 1, \dots, k),$$

i.e. $\text{Ker}(\alpha_i)$ has no proper essential extension in M_i . We want to study the conditions for M to be an essential subproduct of the M_i ($i = 1, \dots, k$). We know that

$$M \subseteq {}_e M^* \leftrightarrow M \cap M_i \subseteq {}_e M_i \quad (i = 1, \dots, k) \text{ }^{(2)}.$$

⁽²⁾ F. LOONSTRA, *Essential submodules and essential subdirect products*, Symposia Math., **23** (1979), pp. 85-105.

$M \cap M_i$ is characterized by the fact that $m_l = 0$ ($l \neq i$) and

$$r_{ji}\alpha_i(m_i) = 0 \quad (\forall j \in J);$$

this last condition is equivalent with

$$r_{ji}f_i = 0, \quad f_i = \alpha_i(m_i), \quad (\forall j \in J).$$

Defining for each $i = 1, \dots, k$ the ideal L_i of R by

$$L_i = \langle r_{1i}, r_{2i}, \dots, r_{ji}, \dots \rangle_{j \in J}, \quad i = 1, \dots, k,$$

and the submodule $F_i \subseteq F$ by

$$F_i = \{f \in F \mid L_i f = 0\}, \quad i = 1, \dots, k,$$

we have

$$m_i \in M \cap M_i \Leftrightarrow \alpha_i(m_i) \in F_i, \quad i = 1, \dots, k;$$

i.e. $M \cap M_i$ is characterized by

$$\alpha_i(M \cap M_i) = F_i, \quad i = 1, \dots, k.$$

Since $\text{Ker}(\alpha_i) \subseteq {}_{c_1}M_i$ ($i = 1, \dots, k$), it follows that

$$F_i \subseteq {}_eF$$

since $M \cap M_i \subseteq {}_eM_i$ ($i = 1, \dots, k$).

If therefore the subproduct M is defined by epimorphisms α_i with closed kernels, then

$$(12) \quad M \cap M_i \subseteq {}_eM_i \rightarrow F_i \subseteq {}_eF \quad (i = 1, \dots, k).$$

Since the converse of (12) is always true, we find

$$(13) \quad M \cap M_i \subseteq {}_eM_i \leftrightarrow F_i \subseteq {}_eF \quad (i = 1, \dots, k).$$

Summarizing we have the following result:

3.1. Let $M = \left\{ M_i \ (i = 1, \dots, k); \alpha_i; F \mid \sum_{i=1}^k r_{ji} \alpha_i(m_i) = 0; j \in J \right\}$ be a subproduct of the M_1, \dots, M_k with epimorphisms $\alpha_i: M_i \rightarrow F$, such that the kernels $\text{Ker}(\alpha_i)$ are closed in M_i ($\forall i$), L_i the ideal of R generated by the $r_{1i}, r_{2i}, \dots, r_{ji}, \dots$ ($i = 1, \dots, k$), and F_i the submodule of F , defined by $F_i = \{f \in F \mid L_i f = 0\}$, $i = 1, \dots, k$; then M is an essential subproduct of the M_1, \dots, M_k , if and only if $F_i \subseteq {}_e F$ ($i = 1, \dots, k$).

REMARK 1. Since $\text{Ker}(\alpha_i) \subseteq {}_{e_1} M_i$ and $M \cap M_i \subseteq {}_e M_i$, we see that F_i cannot be the zero submodule of F .

Suppose that $\{M_i \mid i = 1, \dots, k; \alpha_i: M_i \rightarrow F\}$ is a finite system of R -modules and $\{\alpha_i \ (i = 1, \dots, k)\}$ a system of epimorphisms, and let $\{F_i \mid i = 1, \dots, k\}$ be a system of k essential submodules of F . This system $\{M_i; \alpha_i, F, F_i\}$ determines uniquely an essential subproduct M (of the M_i) such that M corresponds in the above sense with the prescribed submodules $F_i \subseteq {}_e F$ ($i = 1, \dots, k$). Indeed, for each of the submodules $F_i \subseteq {}_e F$ we define the ideal $L_i \subseteq R$ by

$$L_i = \{r_{ji} \in R \mid r_{ji} F_i = 0\}_{j \in J}.$$

That implies that—for each $j \in J$ —we have a finite system of elements of R

$$\{r_{j1}, r_{j2}, \dots, r_{ji}, \dots, r_{jk}\}, \quad j \in J.$$

We define a subproduct M as follows

$$M = \left\{ m^* = (m_1, m_2, \dots, m_k) \in M^* \mid \sum_{i=1}^k r_{ji} \alpha_i(m_i) = 0; j \in J \right\}.$$

Since $F_i \subseteq {}_e F$ ($i = 1, \dots, k$) it is now easy to see that the constructed subproduct M is an essential subproduct, for $F_i \subseteq {}_e F$ and $\alpha_i(M \cap M_i) = F_i$ implies $M \cap M_i \subseteq {}_e M_i$ ($i = 1, \dots, k$).

The corresponding one-relation subproducts $M^{(j)}$ are determined by the j -equation

$$\sum_{i=1}^k r_{ji} x_i = 0.$$

REMARK 2. If R is a principal ideal ring, then $L_i = \langle r_i \rangle$, and that

means that M can be described by means of *one* equation

$$r_1x_1 + \dots + r_kx_k = 0.$$

3.2. Let $M = \left\{ M_i \ (i = 1, \dots, k), \alpha_i; F \mid \sum_{i=1}^k r_{ji}x_i = 0, j \in J \right\}$ be a subproduct of the M_1, \dots, M_k ; then

- (i) The one-relation subproducts $M^{(j)}$, $j \in J$ are essential subproducts if M is an essential subproduct.
- (ii) If the $M^{(j)}$, $j \in J$, are essential subproducts, and J is a finite set, then M is an essential subproduct.

PROOF: (i) This follows from the fact that $M \cap M_i \subseteq {}_oM_i$ ($i = 1, \dots, k$) and the fact that $M \cap M_i \subseteq M^{(j)} \cap M_i \subseteq M_i$ ($i = 1, \dots, k$) for all $j \in J$. Then $M^{(j)} \cap M_i \subseteq {}_oM_i$ ($i = 1, \dots, k$) for all $j \in J$.

(ii) If $M^{(j)} \cap M_i \subseteq {}_oM_i$ ($i = 1, \dots, k$) for all $j \in J$ (where J is finite!), then we have for the intersection

$$\bigcap_j (M^{(j)} \cap M_i) \subseteq {}_oM_i,$$

or $M \cap M_i \subseteq {}_oM_i$ ($i = 1, \dots, k$).

Manoscritto pervenuto in redazione il 23 maggio 1980.